)
(i)

(ii)

(b)

(c)
(i)

© OCR 2024

Read the passage and answer the questions.
tavta O emotet te kal évetéAdeto 6 Wapuntixog €é0€Awv diovoal fjvtiva pwvnv
on€ovot mEwtV ot mades, AMAAAAXOEVTWV TV AOT|UWV KVUCNUATWV. &TtEQ ODV KAl

EYEVETO" WG YO DLETTG XOOVOG €YEYOVEL T TOLUEVL AVOLYOVTL TV OVENV Kat elotdvTt
A Tt APPOTEQ TIEOOTUTTOVTA “BEKOC’ EPWVOLV, 0QEYOVTA TAG XELQAG.

Tales from Herodotus Il (Psammetichus) 13—-18

tavta O émolel te kat évetéAAeto (line 1):

state one of the instructions which Psammetichus gave to the shepherd in the section before this
passage.

a\e-
€0€AwV axovoat ... Twv aoUwV kKvuln @&Q)Swh did Psammetichus want to find
out? ‘ﬁ j(
W A0
............................. \ e e

..................................................................................................................................................... [2]

WS YAQ OLETNG ... 0péyovTa tag xeloag (lines 3—4):

how long did Psammetichus have to wait for the result of his experiment?

..................................................................................................................................................... [1]

what happened on the occasion described here?

..................................................................................................................................................... [3]
Turn over
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Question Answer Mark Guidance
6 Assess against criteria in the 5-mark AO2 grid (see above) AO2 Accept
5 uéxol ‘as far as’

P

3

UEXOL UEV TETTAQWV UNVAWV TIAOD Kol OD0U YIYVWOKETAL

te kat Alov dLOUWV. TO O ATIO TOLDE ovbsﬁ

podoaL. N
Suggeste @m ?)7

d’ Ae%le is stZ’ce of) four months’ travel by water
and land, b er in Egypt. It flows from the west and
the sun’s setting. (But as for the part after this, no one is able to
say cIearIy.

\
0 Netdog, mape€ Tov év AlyVvmtw gevpatoc. Oet d’ a(pgﬁgm

mAov ‘by sailing’, ‘voyage’

odov ‘travel’, ‘journey’, ‘road’

yryvaoketat ‘has been explored’

napeé ‘outside’, ‘after’, ‘except’

oevuatog ‘stream’, ‘course’, ‘part which flows’
€0méQAag ‘evening’
Omission of pév ... &’ (after get) ... te

0 &’ amod tovde ‘from this point on’ (vel sim)

Inconsequential error

uéxot ‘only’ (but accept ‘only as far as’)
naoeé ‘from’

kat (line 1) ‘or’

0000 ‘by foot’

Tov ‘a’ (ie indefinite instead of definite)
historic translation of yryvaoketat... Qet...
éxeL ‘has’ (but accept ‘has the ability to...")
oLOelS €xeL oapas poaoal ‘nothing can be said
clearly’

ExeL

More serious error
tettdowv pnvav ‘the fourth month’

oevpaTog ‘source’

Te kat ‘1o’

ovdeig €xel ‘nothing has’

any omitted ‘substantial’ word (ie not particle)

13
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Question Answer Mark Guidance
T* Assess against criteria in the 8-mark AO3 grid (see above). \203 dLe&eABoVTEG O XWEOV TOAVV Pappadn Kal v
8 -y . . . , ,
TIOAAKL £0alg, 100V 01 ToTe dEVOPR €V Ttedlw
Answers may include: Q \A = THeQAs " ? ‘
* XWEOV TOALY Pappwdn ‘a wide San * g:,’ TEEPLKOTA, Kol TEOOEABOVTES TJTTTOVTO TOV €MOVTOG
an expanse of unfam|llar errt €T TV dEVOQWV KAQTIOD: ATITOUEVOLS O€ AVTOIG
* X@WEOoV no)\vv Ide n .many EmmMABov avdEeg pKQOL, HETOIWV EARTTOVEG AVOQWY,
da%/Sr c ha Ises bore ngth of time AaBovrteg O Nyov avTtoug U €AV peylotwy, Kat
W niote ‘th aw’: eXCItlng moment dle€eABOVTEG TALTA APLIKOVTO €1C TTOALY &V 1) TAVTEG
P V:( . 66\/6@0( € ?KOT(X ‘trees growing on a plain’: Noav loot Toig dyovot o uéyebog, xowuo d¢
descriptfon of the landscape, underlined by r-alliteration HEAQVEG. QA DE TNV TOALV €QQEL TTOTAOG UEYAGS,
(continued into the next clause); we wonder whether these #00e1d’ &g’ é0méQag RO HALOV avaTéAdovTa,

will be ordinary trees
* fjmrovto ... amrtopévols ‘they tried to touch...as they
were touching’: sense of exploration / enquiry,

£€@avovTo 0¢ &V avTe KQOoKOdEIAOL

emphasised by imperfect (fittovto) and by polyptoton And having crossed through a wide sandy region,
(&mropévorc) taking many days, they saw indeed at some point (/ at
* avdQeg UIKQOL, HeTEiwV EAaTToveg avdowv ‘small men last) trees growing on a plain and going up to them
[delayed in clause], smaller than men of normal size’: they were touching / tried to touch the fruit that was on
diminutive stature emphasised by p-alliteration, chiasmus the trees; and as they were touching, some small men
and comparative éAattoveg after pkoot; cf. to puéyebog approached them, smaller than men of normal size;
below and taking them they led them across (very) great
* Aafovteg de yov avtoug ‘and taking them they led marshes, and having crossed these they came to a
them’: an alarming experience for the travellers? city in which everyone was the same as those leading
* Ol éAwv peylotwv ‘across (very) great marshes’ them, in respect of their size and their black colour.
expansive terrain; peylotwv contrasts with previous Alongside the city there flowed a great river, and it
HKQOL ... EA&TTOVEG flowed from the west towards the rising sun, and there
* dpikovto eig oAy ‘they came to a city’: their journey were evidently crocodiles in it.

concludes with arrival (aorist agiicovto) at a settlement;
familiar but strange because...

15
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The response presents a line of reasoning but may lack structure.

The information is communicated in an unstructured way.

* very limited knowledge and understanding of the set text (AO2)
* avery limited response to the question with very limited reference to the set text (AO3)

A \x\<

0 = No response worthy of credit.

,\t P'Sa\e '

cO~

Question Mark Guidance
8* How does Her ain the estin h|s 10 made | An AO2 heavy response may focus on details from
vario s\, ut Afl‘IC [@p thelr rulers? up of the set texts but not draw many valid conclusions.
P é ? @ AO2=5 [ This is likely to limit the level.
&
Assess against critefia in the 10-mark essay grid (see AO3=5 | Do not expect answers to show understanding of the

above).
Arguments may include (AO3):

In an historical work examining the causes of the Persian wars,
Herodotus’ long digression on Egypt and Libya (Africa) might
be criticised as dull and irrelevant. We should be wary,
however, of judging Herodotus by modern standards of
historiography. One of his stated purposes in writing was ‘so
that the great and marvellous achievements of Greek and
barbarian alike may not be lost in oblivion’. In writing at length
about non-Greek places, he fulfils this objective, sustaining the
reader’s interest in a number of ways:
 Variety and versatility: accounts of exotic people and
places are combined with stories about individual
Egyptian rulers
+ Strange and surprising information, attesting to his
extensive travel and thorough research
+ Stories of divine capriciousness sit alongside tales of
rational enquiry

context of the set text prescription — ie that it is part of
H’s wider narrative about the growth of Persian power
— but award due AO3 credit to those that do.

To access Levels 4 and 5, answer must mention three
of the four sections, thereby considering both people
and rulers.

18
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Question

Answer

Mark

Guidance

* Informative description of the inhabited parts of Libya,
along the northern sea, and then of the unfamiliar lands
beyond Libya: wild beast country, dry desert

* The young Nasamonians’ initiation ritual is a fast-paced, u\
1O -

entertaining story of a journey into the deserts of Libxa (

and an encounter with a tribe of pygmies:

travelogue, with an element of s ﬁgfor

the young men’s safety 1}
* The pygmles th

i , rocodlles te
source, Wlth this

( N ader to Pthe conclusion is correct.
» Mysterious / su raelement: Etearchus says that

the Pygmies were aII sorcerers

U

/‘
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